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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He said it-eXpéhded his lungs’. The antonym of ‘expand’ is
(1) Unfold . .‘(2) Contract (3) Spread (4) Loosen

2. 'Did you get-up early this moming’ ? What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

3. ‘| kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH

8 -
7 4
°T i |
5+ l
|

4 + T - |
34
24
14
0 H [

First Second Third Fourth Fifth Sixth

Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Second ball (2) Firstball
(3) Sixth ball (4) Fourthball
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5. How many runs were scored in the fifth ball ?

(1) 6 (2 4 (3) 0 (4) 2
6. What are the two balls in which the batsmen scored the same runs ?

(1) First and Second balls (2) Firstand Sixth balls

(3) Third and Fifth bals\ (4) Second and Third balls

M. identify he.;rmer: . order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)
7. 1. Hi, Cherry, how are you ?
2. Well, | play a lot of sport.
3. llike shuttle badminton.

4. Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

5. What sport do you like the best ?

6. Yes|do. |go running in the moming at least five days a week. Are you interested
in sport too ?

7. Doyou ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

8. Who is the author of “Mother’s Day : One-Act play” ?
(1) W.R.Inge | (2) J.B. Priestley
(3) ShivK. Kumar (4) Stephen Leacock

9. George Orwell's ‘Animal Farm’ is marked by a profound awareness of

(1) Equality (2) Liberty
(3) Social Injustice (4) Fraternity
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. “Then you can sail away be happy”. In which poem does this line
(1) Equipment (2) The Giving Tree
(3) HarvestHymn (4) Bullin the City

“Choose the word that has the same meaning as the expression given below.

The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“That which can not be conquered”.
(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

“Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is
(1) Disappear (2) Appear (3) Found (4) Seen

Identify the part of speech of the underlined word.
“The search became a mania with me”

(1) Adjective (2) Noun (3) Verb (4) Conjunction

Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly

Which letter is stressed in ‘Volunteer’ ?
(1) Vv (2) L (3) E 4 T

Identify the silent letter in ‘subtle’.
(1) s (2) b (3 t (4) 1

Find the word that is different from the other words in the group with regard
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance
Identify the right word for /KJut/

(1) Coat (2) Kute (3) Cute (4) Cote
Supply the missing letters to complete the spelling of the word “Anc _ _t

(1) i, s (2) e, s (3) us (4) s, e



IV. Fill in the blanks with suitable answer.

21. After working so hard he didn’t deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don'the ? (4) Ishe?
22. Yesterday at this time all of us (watch) the cricket match.
(1) watched (2) arewatching  (3) hadwatched (4) were watching
23. The object s to prevent him failing.
(1) for (2) from (3) in (4) at
24. The rose is prettier than flower.
(1) Noother (2) Any other (3) More other (4) Most other
25. You must cure me this horrible iliness.
(1) of (2) at (3) in (4) for
26. Each of the boys given a chocolate.
(1) were (2) was (3) has (4) have
27. There was a man was very greedy.
(1) which (2) when (3) who (4) why
28. injured were immediately taken to the hospital.
(1) A (2) An (3) The (4) No article

29. Mark the part of the sentence that has an error.

1 2 3
mn1 (2 3 (3) Noerror (4) 2
3. The teacher will come when the bell
(1) Rings (2) Rang (3) Ring (4) Hadrung
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PHYSICS

31. If force F, length L and time T are taken as fundamental units, the dimensio
formula for mass will be
oo, 2 b 5380k Se0 T oo Dol ireredr SoDo8) (508 Doty

W FC'T @ R @ FUT] @ FLT)

\
32. The sum.of two vectors A and B is at right angles to their difference. Then,

(1) A=B (2) A=2B
(38) B=2A (4) Aand B have the same direction
A 508050 B :58%0 Do, &5 Dok $8%e S8 00w ¢oB. @Hp 208 TIS° 50 o
(1) A=B (2) A=2B

(3) B=2A (4) A S00a%o B oo 28 896" ot

33. Choose the correct statement
(1) The area of displacement-time graph gives velocity
(2) The slope of velocity-time graph gives acceleration
(3) The slope of displacement-time graph gives acceleration
(4) The area of velocity-time graph gives average velocity
20 8000 T oSS ol
(1) eodo - Seo HPToPITRFRD (2) 3o - S0 [T Te» BgBET FR00
(3) Yigiodo - 500 5T BBETY FNod (4) Do -seo T DO D0 DT

34. A ball is projected with a velocity 20 m/s at an angle to the horizontal, in 0
have the maximum range. It's velocity at the highest position must be approxi

L€ 200 20 M/S Bro8' §9e:08" 205’08, NOFTRA Fod Migor B0 B7C0. MO
TR DO BT

20
(1) 20m/s (2 20y2m/s  (3) 10mis @ Zm™e
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35. Which of the following forces is a conservative force ?

(1) Frictional force (2) Air resistance force
(3) Electrostatic force (4) Viscous force

0B TISE" Ditss w00 8 ?

(1) oges oo (2) ™6 00

(3) 3638 weo (4) Xy w00

36. A 6.0 kg object is suspended by a vertical string from the ceiling of an elevator
which is°accelerating upward at a rate of 0.2 m/s?. The tension in the string is

6.0 kg © 553950 93 D S3pR0od S 55¥aos’ Jeoy e 7. 85 0.2 m/s?Stieos’ 3
SAredigiHc SiE° 81558 weo deos (g = 9.8 m/s?)

(1) 11N (2) 70N (3) 48 N (4) 60N
37. The coefficient of restitution for perfect inelastic collision is

(1) 1 (2) Infinity

(3) Liesinbetween0and 1 (4) Zero

DOYY PILSE DI SIS Moeaso

(1) 1 (2) essoro

(3) 0 30800 1 So¢55 csotoisd (4) o=

38. In equilibrium the potassium (39) and iodine (127) atoms of Kl are separated by
approximately 3A. The centre of mass of KI from potassium is at distance of
3505596 Kl erp6® erdaso (39) 50000 eakodS (127) sesrende 8 6570 3A exsd
TR0 S8R ook Kl (55508 ol so s3s0

(1) 1.2A (2) 2.13A (3) 2.29 A (4) 1.8 A

39. The maximum speed of a car on a curved path of radius r and the coefficient of
friction p is
TGO T SOAS SEITEos” .8 5 Eareloni®iR HOZ Do (30ges oo |, )

v= M 2) V= = |9F V=—p
(1) J; (2) V= uar ) V (4) Jar

Hg
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_(3)7 Nature of distribution of mass about axis

Moment of inertia of a rigid body is independent of

(1) Mass of the body
(2) Position of axis

(4) Angular velocity

)68 SR G TS0 ARTE ~yerelat

(1) Speses (2) w0
(3) oo SYX 5 508 MBS (4) Sedawdio

The rotational kinetic energy of a body is 80 J. If the moment of inertia of the body
about the axis of rotation is 4 x1 07 kgm?, the angular momentum of the body is

2.8 505 @soes 194§ 80 J ER0eTE0 BYE 5 268 P80 4 x107 kgm? excxd & oo dowd
E'ela (g0

(1) 442x1073%Js (2) 8J2x102Js

(38) 8x107°%Us (4) 4x103Js

The height at which the value of acceleration due to gravity becomes 50% of that at
the surface of the earth (Radius of the earth = 6400 km)

27 530500 00k Job NS KBS BE0 JO0 AP &0Be0 B KB Beo De058"
50% 1 &ot0od. (8P 5‘53%20 6400 km)

(1) 2650km (2) 2430km (3) 2250km (4) 2350 km

A man weighs 75 kg wt on the surface of the earth. His weightin a geostationa
satellite is

(1) Infinity (2) 150kg

(3) Zero (4) %kg

270 50000 Dois .8 20w 75 kg wi 00000 &0 S02 2B BURLSS &ST0S” 208 2

(1) eoso (2) 150kg (3) o @ Sk
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47.

i o

For a particle in simple harmonic motion the amplitude and maximum velocity are

A and V respectively. Then its maximum acceleration is

ETTES SoSod” &) 2.5 £590 K035 508 8000 RBRIen SE:m A So8axo V esansd es
v2 . V2

(1)} = '. 2) VA (@) - (4) V/A

\

Thelength of-a wire under stress changes by 0.01%. The strain produced is
SB000 305 2.8 AN F¢HE* 5762 0.01% eond e S’ HED IS

(1) 1x10- (2) 0.01 (3) 1 (4) 104

A drop of liquid having radius 2 mm has a terminal velocity 20 cm s™', the terminal
velocity of a drop 1 mm radius will be

2 MM T30 SDAS (655 Doty 5650 3o 20 oM 8 esaxsd Tmm o $0AS &8 559
oY) B85 Do Jots 2

(1) 40cm s (2) 20cm s (3) 10cm s (4) 5cm s

In a process the pressure of a gas remains constant. If the temperature is doubled,
then the change in volume will be

2.8 BEADE’ HOBCES0 56 T AN BeJo) DIBYED 50 B037e206° 18008
3 % 3 D

(1) 100% (2) 200% (3) 50% (4) 25%

Incase of hydrogen and oxygen at NTP which of the following is same for both.
(1) Average linear momentum per molecule

(2) Average K.E. per molecule

{3) Kinetic energy per volume

{4) KE per unit mass
NTP 35 2725 000 64253 TAWHEDH @08 TIE® DB BEFBM dotsss ?

(1) se=pendban S50 (2) ern By, sren S
(B) sSrmmssesrer)e N&%3 (4) ey (55508
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49.

50.

51.

52.

Which of the following is wrong
Eod A" 50"
R C YR
| (1}-_9\{:7—_—1._ ) §%=v 3 Co=7; (4) C,-C,=2R

Newton’s law of cooling is a law connected with

'(1)..Conduction - (2) Convection
(3) Radiation ' (4) Conduction and radiation
oS Besdsses Davsoo £ Sowoio RHoD
(1) egeswo (2) agsosso
(3) &xR3se0 (4) S0 SodaX J8BEW

The equation of transverse wave propagating in a string is given by y = 0.02 sin
(x + 30t). Where x and y are in metre and t is in second ? If linear density of the
string is 1.3 x10~* kg/m, then the tension in the string is

2.5 HRE Barediy OGS KoK Sssey = 0.02 sin (x + 30t) X 500050 Y &0 Dotob ESreres’
P 28 SSreres® dmon. SidHand Fows 1.3 x10~* kg/m 000 SKE® B35 Jood

(1) 0.12N (2) 1.2N (3) 12N (4) 120N
Velocity of sound in vacuum is

(1) Equalto 330 m/s (2) Greater than 330 m/s

(3) Lessthan 330 m/s (4) Zero

5508 ¢S50 D0

(1) 330 m/s £ 55750 (2) 330 m/s %ot &@%o

(3) 330 /s 50 555 (8)

Speed of light in vacuum is 3 x 10® m/s. If refractive index of glass is 1.5, the time|
taken by the light to travel 400 m in glass in microsecond is
s Tod o3 x 10° m/s. 1.5 58555 foeaso RS merd’ 5703400 M Erdo Batrelonedl
335700 WEWERS Bevsod.

(1) 443 (2) 8 (3) 2 (4) 3
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54. In an optical fibre during transmission of light
(1) Energy increases
(2) Energy decreases
(3) Noloss of propagation of energy takes place
(4) Light partially reflects and refracts
2.8 (T BoBHE’ 5700 (300 BELIHBRFHE
(1) 8hmmon '
(2) #ono
(3) ©F0os® ¥§ S0 axones>
(4) 5703 Fgsorr STv5E%0 SoBaw SIS0 Dot

55. Waves that cannot be polarised are

(1) Longitudinal waves (2) Transverse waves
(3) Electromagnetic waves (4) Lightwaves
G530 SO §50,05) Bormed

(1) oepg;ssores (2) 855 ssorren

() 05t 08 BSorred (4) s°0d BGorren

56. Electric charges +10uc, +5uc, —3uc and + 8uc are placed at the corners of a square
of side /2 m. The potential at the centre of the square
+10uC, +5uC, —3uc So80x0 +8uC ASoTRT e 2 M gheso M) SDAS SEiodiEo Teskh Sares
¢ GODRER. &3 BB SoiSo 3¢ g FOJaE

(1) 1.8x106V  (2) 1.8V (3) 1.8x10°V  (4) 18x 105V

57. Atthe centre of a cubical box + Q charge is placed. The value of total flux that is
coming out of each face is

2.8 300 Soo 3¢ + Q eiddo doisadis. oo BdBLR0 Kol IS ePTo

Q Q Q Q
1) N @ ge, @ 7o, @ 5<,
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58. The deflection in a galvanometer falls from 50 divisions to 20 divisions, when

12Q shunt is applied. The Galvanometer resistance is
12Q © SpeSo oy Srsd LY, T 6535650 50 Jerre vod 20 Jermros
e ?\"035‘ St 960
1y 24‘0 : W(2) 18Q (3) 30Q (4) 36Q

59. A copper Mre of reéistance R is cut into ten parts of equa! length. If all the
pieces are joined in parallel. This new combination will have a resistance.

memwonmmmmmmm.am&m
Sogrs08” SO &8 Sogrse DB A0

R R R R
) 35 @ 350 @ 3 4 3

60. For a paramagnetic material, the dependence of the magnetic susceptibility x on
the absolute temperature T is given by

T 90,08 SO e, of S5 (Sh300e5) X 500k 365 Ae B30 o,
1

(1) xaT (2) xaT? (3) ’“1:;7 (4) xo=

61. Ageneratorprocbcesatinnvaryingvoltageg‘venbyV:%Osin 120 t, where tis
in second. The rms voltage and frequencies are
(1) 240vand 60 Hz (2) 170vand 19 Hz
(3) 1770vand60Hz (4) 120vand 19 Hz

wm%@mwmmsgemm V =240 sin 120 t. 35, t @S0
m,ewémssgemmm.

(1) 240 v s08a% 60 Hz (2) 170 v 55805 19 Hz
(3) 170 v 358030 60 Hz (4) 120 v 5800 19 Hz

Course Code - 4 [12]
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62. The neutral temperature of a thermo couple is 500°C. The inversion temperature if
cold junction is at 30°C is
5 RN Bexp a0 500°C, 599 500 e 30°C eaxnd D6t s
(1) 1030°€ = (2) 530°C (3) 970°C (4) 1000°C

63. The rest mass of a photon is

(1) Zero .. (2) 16x10“°kg (3) 3.1x10%kg  (4) 9.1 x 10" kg
2.8 oS D05 (5308
(1) oy (2) 1.6x10"°kg  (3) 3.1x10®kg  (4) 9.1x 10" kg

64. In a photo electric experiment, the maximum velocity of photoelectrons emitted

(1) Depends on intensity of incident radiation

(2) Does not depend on cathode material

(3) Dependson frequency of incident radiation

(4) Does not depend on wavelength of incident radiation
swmgsmo@oarﬁoé‘m@;smoogmmgsﬁo

(1) 385 508 S8 eposeoso (2) s6'c sorgop esroseses

(3) 555 5708 Fisdysop esgrec (4) 2655708 BENKD G 0P eTEEH

65. The radius of the oxygen nucleus (80‘3) is 2.8 x10-'*m. Then the radius of the

lead nucleus (,,Pb®*) is

425200550 (3078 ) g0 2.8 X10-5m ecusd biso dosto (s2Pb?®) 50

1 1
(1) ( Tx28x10"5 (2) (205)’x28x1o"5
1 1
(3) ( )?x28x10‘5m (4) (205}2"28"10_15
Course Code -4 [13] (P.T.0.)




66. The half-life of radium is 1600 years. The time does 1 gram of radium take
reduce to 0.125 gram.

(1) 4500 years (2) 5000 years (3) 4750years  (4) 4800years
826556 32 S0 1600 sostTe. 1 5 38000.125 S0 BERi sy e
(1) 4500 50580 (2) 50005cs80es  (3) 475050580 (4) 4800 Soseg0es

67. Aﬁ\ong the following the lightest particle is

(1) electron (2) proton (3) n°meson (4) neutron
Eod 06’ BOKo e
(1) oz (2) FersS (3) =205 (4) S>gers

68. When the P-n junction diode is reverse biased, the thickness of the depletion layer.
(1) Increases (2) Decreases
(3) Becomes zero (4) Remains constant
P-N 508 EarEs 86narhs’ MBS 8o Y Soote
(1) 25008 (2) s
(3) oo epsood (4) Sroc 1

69. In an npn transistor the base and collector currents are 100pA and 9mA
respectively. Then the emitter current will be

NPN 206" esc Sodakn 50ed Eosfen SEST 100pA 508> IMA es00d G0 D508
STT0 deod
(1) 182mA (2) 9.1mA (3) 3.91pA (4) 18.2 pA

70. Among the following one can act as the universal logic gate.
0B T s o2 o B DAXLD.
(1) NOT (2) OR (3) AND (4) NOR

Course Code -4 [14]




LT

MATHEMATICS

2 .4
71. |ff(X)= COS” X + sin® x

i %+ cos’® .VXER,thenf(2012)=
Sin® x + X

2 . 4
f) = S5 XHSNX R waxd (2012) =
SIN“ X + cos X LA

(1) 1 h (2 -1 (3) 0 (4) 2

72. Iff:R>R,g:R>R defineg by f(x) = 3x - 2, g(x) = x? + 1 then (gof ') (2) =

f:R—aR.g:R—>Re:aaf(x)=3x—-2, 9(¥) =X+ 11 20595 (gof ') (2) =

-25 25 9 -9
(1) o (2) 9 (3) 25 (4) 55

73. Sn=13+23+33+....n3,Tn=1+2+3+....nthen

S,=1P+284+ 334 n, T =1+2+3+....ne9m)63e9§33c:o

n

(1) S,=3T, (@) S,=2T,
(3) 8,=T2 (4) 8,=T3

A= 1 2 B 3 8
74. =|3 4l "= > and2X+A=BThenX=

1 2 3 8
= B: = =
A [3 4], [7 2] 0000 2X + A = B esand X

-1 3 1 -3
(1) [_2 J (2) [2 _J

1 3 1 3
o[ o[

Course Code -4 [15] (P.T.0)
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75. IfA=[1 1 1|thenRank(A)=
111
111
CA=|1 1 1| eodSS(A)=
111 '
(1) O (2 1 (3) 2

76. i—2j,3j+kand Ai=3j aré coplanar then A =

i—2],3]+kmmli=3jww®mwmal=
1) 1 2)
(1) @ 3

-3
@ - @) 2

77. |If cos9° +sin9 =cotk, thenk =

c0s9° —sin9°
c0s9’ + s!nQ _ cot k eoxd k =
c0s9° —sin9°
(1) 36° (2) 30° (3) 45°

(x>0)

78. If sin™’ (1—-2—)+ sin”' [E): E, then x =
X X 2

sin”’ (_?—_]+ sin”' [é)— Z wondX=

X X
(1) 12 2) 13
(3) 14 (4) 15

\

(x>0)

4) 3

(4) 75°




LT
79. Iflog (5 [26) = sin h-'(k), then k =
log (5 + [26) = sin h-"(k) excsss k =

M2 23 (3) 6 (4) 5
o 63
80. lfa=26,b=30.,005c=—eg,thenc=

a=26,b=30.cosc=g€3;eaopéc=

(1) 7 (@) 8 (3) 6 (4) 9

81. The equation of locus of p, if the distance of p from the origin is twice the distance
of p from A(1, 2)=

P &5 Dot 0l Sare DotH® Mo crtsion, p oo A(1, 2) Do o 5o Belogypod

P D08&55¢5 320856350
(1) 3x2+3y2—8x-—16y+20=0 2 3x“’+3y2+8x~—16y+20=0
(3) 3x2+3y2—8x-16y—20=0 (4) 3x2+3y2-—8x+16y—20=0

82. The distance between the parallel straight lines 3x + 4y —-3=0and 6x + 8y-1=0
is

3x+4y-—3=0:»601n6x+8y—1 =0m0666mm¢5w65.»

-3
(1) @ -

(4 -3
83. The image of (1,-2) w.r.t the straight line 2x — 3y+5=0is

2X-3y +5= Ommdﬂsﬁ,—z)oa»gb@aaoma»

(1) (-3,4) (2 (3,-4) (3) (3,4 (4) (-3,-9)
Course Code -4 [17] (P.T.0.)
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84. XZ plane devides the line segment joining the points A (-2, 3, 4)andB (1, 2,
the ratio

A(—2,3,4)m601u8(1,2,3)aod>@emwﬁwmszzéoomoaa:§§=
(1}.-—3:2 (2) 3:-2 (3) 3:2 (4) 2:3

85. The angle between the planes 2x —y +z =6 and x + y+2z=7is
.2X"—y+2=6;ﬁ>60ztn‘x+y+22=7é§e3°e);5.>¢55§‘£'ao

noo '
™) & @ % @ % (4 0
86. Lim COSax—cosbx _
' X0 X2
a? —b? b? - a? a’® +b?
(1) = (@) @) — (4) 0
Lim e* —sinx -1
87. x-0— - =
X
(1)1 2 0 3) 2 (4) -1
88. The derivative of Tan™ ( 3 2’;2 ) when [x|<1 is
af, 2x
IX|<1 esosssyeo Tan (1 v )oansb RGN
2 2
(1) 1+x2 (2) 1_x2
-2 -2
@) 552 @ —

Course Code -4 [18]




89. Ify =ae™+be™™ then y” is

y =ae™ + be™ woxwd y'=
(1) n?y (2) —n?y (3) ny? (4) —ny?

o : "\
90. The slope of the normal to the curve x = a(6 - sin) y=a(1-cose)

n
9:—'3
at 2|

:
:

x=a(0-sinB), y=a(1 —cos@) 522 9=g 3¢ oo Tew =

1

(1) 0 @ 1 (3) - @ 7
a?+p2 |
91. If o, B are the roots of ax2 + bx + ¢ =0, ¢ # 0 then o Zip? is
a? + B2
ax®+bx+c=0,c#0 RseTE a1, B oo Soreres eows T B2
a? c?
) = @ =
_ga2 —c2
@) = 4) —=
92. (1+i)'%=2%(x +iy), then x2 + y’=
(1+i)‘°°=2‘°(x+iy),eao»éx2+y2=
(1) 2 (2) 1 (3) 3 (4) 4

93. If 1,2 and 3 are the roots of x*— 2x? + ax + 6 = 0 then a =
X¥—2x2 + ax + 6 = 0 & Soreren 1, —2 50800 3 wowd a =

(1) 5 (2) 4 (3) -5 (4) 2
Course Code -4 [19] (P.T.0.)
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94. The number of ways of arranging the letters of the word MATHEMATICS is

MATHEMATICS :5¢506") es§oroio e5550) e 5oy

! (1! (! !
M gz - @ 34 @ 34 @ 222

95. Nuinbgr of terms in the expansion of (2x + 3y +2)’is

(&+W+z)’5§8mmma5

(1) 78 (2) 87 (3) 36 (4) &7

3x+7 _—10+ K
x2-3x+2 x-1 x-2

thenK =

3x+7 -10 K
)(2—3x+2—x—1+ x—2 ¢ BK=

(M n (2) 12 (3) 13 (4) 14
97. If nc,=nc,, then 13¢ =
nc, = NC,, eoxd 13C, =

(1) 78 (2) 87 (3) 7 (4) 67

98. The probability of a non-leap year containing 53 Sundays is
Brg 5055850 50 15058,508° 53 BT et Sorip

1 2 3 4
M 3 @ 3 3 7 4 3

99. Themeanandvarianoeoiabinomialvariable)(are2.4and1.44thennis
B¢ Dereiso X & Soesgsonioo 2.4 50600 DS 1.44 @od N

(1) 4 (2 2 (3) 6 (4) 5

Course Code -4 [20]



100. A Poisson variable satisfies p(x = 1) = p(x = 2) then p(x=5) =
X 2.8 ronerS 5008 p(X = 1) = p(X = 2) wowd p(x = 5) =
e"" 25 e 5"’ e? 25 » 5%
(1) (2) (3) (4) e*
101. If the points (2, 0), (0, 1), (4, 0) and (0, k) are concyclic then k is
(2,0), (0, 1), (4, 0) 55803 (0, k) Docsosyen Sdasrecnd k
(1) 4 (2 6 (3) 8 4) 2
102. x*+y?+4x+8=0,x2+y2— 16y + k = O circles are orthogonal then k =
X¥+y?+4x+8=0,x2 +y2 - 16y+k=0me>oa::6u)€g;weao»ék=
(1) -8 (2) 8 (3) 6 4) 7
103. The position of the point (2, 3) with respect to the parabola y? = 6x is
(1) Inside the parabola (2) Outside the parabola
(3) Onthe parabola (4) None of these
y? = 6x SorSeao Sy s (2, a)ms;ao
(1) Sorsearrdd eotstson (2) Sorsearrdd o
(3) Sosearo Noes (4) b=
” . x2 y? .
104. The eccentricity of the ellipse 36 + 'y =1is
x2 y2
6 +— =13 &g Sydd &@,068
J7
(1) 2 (2) >
J7
- 7
@ O
Course Code -4 [21]
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105. If3x—4y+k=0is a tangent to x2 — 4y® = 5 then kis
X2 —4y? = 5 e Sorsearod 3X — 4y + k = 0 50» sod K

(_1_) +2 (2 £3 (3) +4 (4) +5

o
106. Je' [—i’fi—c’g—’ildxon (0,0)

\ .

(1‘) h |og§< +c - (2) ersecx+cC (3) e*logx+c  (4) None of these

2 .
107. I 172 dxis

(1) log2 (2) log3 (3) log4 (4) log5

4
108. T log (1+tanx) dx is
0

n n
—log 2 —log 2
(1) 509 (2) 7092
n -n
—log 2 —log 2
(3) g'o9 (4) —log
109. The area bounded by the parabola y = x2, the x — axis and the lines x = -1
x=2is
y=x2:>0°;scoboé°a>x—eo§ox=—1,x=26w5‘m:;c:>g:@@aa;_m§o
(1 1 (2) 2 (3) 3 (4) 4

' 3%
110. Order and degree of F-z%- + (gy_] ] =6y is
‘ dx dx

%
2 3 |/5
[_3;35’.4,(%] ] = By $B5TE0, BSHS

(1 2,3 (2 3,2 (3 1,2 (4) 2,1

Course Code -4 [22]




111,

112.

113.

114,

115.

116.

117.

CHEMISTRY

The total number of orbitals associated with the principal quantum numbern=4is
B 5750620 SopN = 4 & &) oo eQerde oy
(1) 9 @ 5 (3) 16 (4) 8

The correct order of electnqnegativity of O, Sand Clis
O, S 508ax3°Cle OB B DO (500

(1) 0<S<Cl () Cl<S<O
(8) S<0<Cl (4) S<CI<O

Which is the weakest base ?

200 36" 20lr5A0 $0 K8 ?

(1) Ce(OH), (2) Pr(OH),

(3) Sm(OH), (4) Lu(OH),

Which of the following molecules has T-Shape ?

$od TS’ D eenHH T-u58 00 2

(1) XeO, (2) CIF, (3) PF, (4) NF,

Among B,, C,, N, and O, molecules, which are paramagnetic ?
B, C,, N,508ax» O, eenpes® TTe0HI,08 G0 SOASI DI 2
(1) Czt 02! (2) Bz! Nz (3) Nzl 02 (4) le 02

Kinetic energy of 5 moles of nitrogen at 27°C is
27°C 3¢5 3560 eSS ooy 19 ¥

(1) 18.71kJ (2) 9.35kJ (3) 37.42kJ (4) 467 kJ

Which of the following species do not undergo disproportionation reaction ?
800 TI6° DB e 565 wHe 2

(1) ClO (2) ClO; (3) CO,” (4) ClO,

Course Code -4 [23] (P.T.0.)




118.

The number of hydroxyl ions (OH) in the balanced equation of

M, 03 (aq) +1"(ag) = M,0,(s) +1>(s) is

(1) 4,right  (2) 4 left (3) 8, right (4) 8, left

M O3 (50 4 I-(9) > My (30)+ p (5) (32 e stosten iy oy 85596, oy o8

- €900 pEES @S (OH) o Xow

119.

120.

(1) 4,088 (2) 4, 200 (3) 8,0a2 (4) 8, 0%

Which of the following processes is associated with increase in entropy ?
A) Melting of ice

B) Freezing of water

C) CaCO4(s) - CaO(s)+CO,(g)

D) Hay(g) — 2H(9)
208 HENE BIE oS B0 ?

A) oo KsKeso

B) & so0eoio

C) CaCOjz(s») — CaO()+CO2(=)

D) Hy (=) = 2H(=)

(1) AC (2 B,C,D (3) A B,D (4 AC,D
Equilibrium constant for the reaction

N,(g) +O,(g) =2 NO (g) at 800K is 0.25. What s the equilibrium constant for the

reaction ?

NO(g) = %Nz(g) % %02(9) at the same temperature

N, (=) + O (=) == 2NO (=) &3 5655 800 K 3¢ 508738 poroso 0.25. esd e 5¢
1 1

NO (=)= 3 N (=) + 502 () 5 505580 3905 Joroso o ?

(1) 4 @) 2 (3) 05 (4) 0.125

Course Code-4 [24]
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121. Which of the following has highest Ka value ?
(1) Formic acid (2) Acetic acid
(3) Benzoic acid (4) Phenol
$oB 736" 522 Ka dews g0 2
(1) o500 - (2) Me¥ss0
(3) Boffansao (4) S8
122. Permanent hamhesSpf wateris due to the presence of salt.

e TEs BTy Seontdd oseso
(1) Mg(HCO,), (2) Mgso,
(3) Ca(HCO,), (4) Na,CO,

123. Weight of 5 carat diamond is
S s8eSo Sieso et
(1) 50kg (2) 100 mg (3) 1000mg (4) 500mg

124. The decreasing order of hydration enthalpies of alkaline earth metal ions is
06 588 6 eatrSe pEns dogrdyen 87 &s00
(1) Be* > Mg?* > Ca?* > Sr+2
(2) Be**> Ca? > Mg? > Sr2+
(3) Sr**> Ca? > Mg?* > Be?*
(4) Sr** > Be? > Mg? > Ca?*

125. BOD values of four water samples are given. Which is highly polluted ?
e 23 S5m0 BOD densen 35ds. 98 ST L0 9
(1) 100 ppm (2) 75ppm (3) 50 ppm (4) Sppm

126. In which of the following compounds sp hybridised carbon is not present ?
(B0 358 O FAEHoE’SP SoLsEsE0 8 S 860 2
(1) H,C=C=CH, (2) HC=N
(3) HC=CH (4) HC=0

Course Code -4 [25] (P.T.0)
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127. Which of the following compound is not aromatic ?
300 336" 6557638 SAetso B B 2

(1) @ (2) D
&) |'f_] (4) U

128. WhICh of the followmg is ‘a pair of metamers ?
208 736" Boersobe exots D8 2

(1) CH,CH,0H, CH,CH,OCH,

(2) CH,COOH, CH,COOCH,

(3) H,CCH,NHCH,CH,, H,CNH CH, CH, CH,
(4) CH,CH,NH,, CH,NH CH,

129. Which of the following is more stable carbocation ?

300 Te35" eathsoth BN TEYELATS DB 2

(1) C(CHy)s (2) HC(CH,), (3) H,CCH, (4) CH,
130. Which of the following is an example of electrophilic addition reaction ?

300 T36° Jo DS MoK VG T 20 2

(1) C,H, + CH,CVAICI, — C,H,CH, + HCI + AICI,

(2) H,C=CH, +Br, - CH,BrCH,Br

(8) H,CCH,Br+ KOH(alc) - H,C =CH, + KBr + H,0

(4) H,CCH,Br+ KOH (aq) — H,CCH,OH + KBr

131. Carbon and hydrogen in an organic compound are detected as

wwymm?%sm:g@‘m v KOOV
(1) CaCO,, CuSO,.5H,0 (2) Ca(HCO,),, CuSO,.5H,0
(3) CaCO,, Cu(OH), (4) Ca(HCO,),, Ca(OH),

Course Code -4 [26]




132.

133.

134.

135.

136.

137.

Which of the following is a Bragg equation ?
308 %36’ grh [5oESE0 DB 2
(1) d=nA/2sin® (2) ni=dsin® (3) d=A/nsin® (4) d=21/sind

Aqueous solutions of which one of the following has highest boiling point ?

(1) 0.1Mglucose (2) 0.1Msucrose (3) 0.1MNaCl  (4) 0.1MAIL(SO,),
805 3 9 FsFo soESerd? MR eriyess o dotwod ?

(1) 0.IMSE  (2°0.1M%EE  (3) 0.IMNaCl  (4) 0.1 MAL(SO,),

A solution of CuSQ, is electrolysed for 965 seconds with a current of 1 amperes.
What is the mass of copper deposited at the cathode ?

CuSO, @rserdy 1 502006 $8068" 965806 e dxAes S5 S 3¢5 Dsocis 76
o008 ?
(1) 3.15g (2) 0.315¢g (3) 6.30g (4) 0.63g

Rate constant of a reaction is 2.3 x10-° L mol-'s~'. What is its order ?
2.8 56500 07080 2.3 X105 9 336" 257! v’ e 15075 (557080 dots 2
(1) 0 (2) 1 (3) 2 (4) 3

Which is an emulsion ?

(1) Froth (2) Smoke (3) Cheese (4) Milk
308 Te36° J509S 8 ?

(1) oo (2) &x (3) 3% (4) Jreo

Which of the following is an example of roasting ?
300 Te36° D8 BP0 & EEALH ST ?

(1) ZnCO5; — ZnO +CO,

(2) FeO+SiO, — FeSiO,

(8) 2Cu,S+30, - 2Cu,0+2S0,

(4) Al,04 +2NaOH +3H,0 — 2Na[Al(OH), ]
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138.

139.

140.

141.

142.

Which of the following is the correct order of boiling points ?
EPEEISH TTOH $owoRodk SOAPS §o D8 ?

(1) NH, < PH, < AsH, < SbH,

(2) NH/<PH, > AsH, > SbH,

(3) NH, >PH, <AsH, > SbH,

(4) NH, > PH, > AsH, > SbH,

Chlorine reacts with Na,S,0, aqueous solution to form Na,SO,, HCI and ‘X’. Which
one of the following is X ?

§8SNa,S,0,, 2ogeod 55SoaNa,SO,, HCloF Jrexn X' o X o036 X' 20 2
(1) SO, (2) SO,
3) HS (4) S

Hydrolysis of XeF gives a compound of Xe in addition to HF. What is formula of

the compound ?
XeF ;0 o 2856 D3 HF 8 e 263 Xe Sogiso e 2203 2
(1) XeO, (2) XeO, (3) XeOF, (4) XeOF,

A magnetic moment of 1.73 BM will be shown by one among the following :
200 36 D 5o 1.73 BM exaiodm, o @raos) Sruigod ?

(1) [Ni(CO),) | @ Ticl,
(8) [Cu(NH,) I (4) [Ni(CN),]1*

Electronic configuration of a lanthanide ion Ln?* is 4f¢. The lanthanide is
28 TogRE earS Ln?* JogS Jmgso 418, & orogipl Soreto 28 2

(1) Sm (2) Eu (3) Gd (4) Pm

Course Code -4 [28]
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144,

How many moles of AgCl is precipitated when aqueous solution of one mole of
CoCl,.4 NH_ is treated with excess of AQNO, ?

28258 CoCl,.4 NH, =0 oesos’ 005 AGNO, & 56555 0800s9¢ exsihosed AgCI3rde
:)omsooé ?

(1) 0 @ 1 (3) 2 (4) 3

Which is the monomer 6(_ne0p;er'le in the following ?

208 38" DTS o&»sbirms 28 ?

(1) H,C=CH-CH=CH,

(2) H,C=C-CH=CH,
CH,

(3) H,C=C-CH=CH,
cl

(4) H,C=CH-CH,

145. Which is an artificial sweetner ?
(1) Sodium benzoate (2) Tartaric acid
(3) Aspartame (4) Ranitidine
$od Te3S" HPso Sbs0e3 DA 2
(1) oo Boscies (2) ergoso
(3) &3S , (4) o2edS
146. Which of the following is highly reactive towards SN' reaction ?
SN' St exsios Sorgod o S3owi0 D8 2
(1) CH.Br (2) CH,CI
(38) CH,CH,CI (4) (H,C),CBr
~ourse Code -4 [29] (P.T.0))



147. Which one of the following reactions is not correct ?

148.

149.

150.

Course Code -4 [30]

800 156508° DB B S ?

(1) H,CCH, OH—CW573K o _ch,

(2) HCCH=CHCH, OH—PCC 1 ¢ CH=CHCHO

+
1),Cr0,Cl, /CS, 2)H,0

(3)- HsCg — CHy »CgHs — CHO

The transformation RCOOH -, RCH,OH can be achieved by — reagent.
RCOOH — RCH,OH &8 5856515 — stt%0& QOB

(1) ZnHg/HCI (2) LiAH,
(3) Pd/BaSO, (4) NaBH,
Arrange the following amines in increasing order of their basicity.

éocsaapohaamgvcsqoesﬁ@moba?

NH,(1), C,H,NH, (2), C;H, NH, (3), (C,H,), NH (4)

(1) 1<2<3<4 (2) 2<3<4<1
(3) 3<1<2<4 (4) 1<3<4<2
What is B in the following reaction ?

808 565" B De3 2

CeHsN,Cl—CUCN/KCN |, HO™

(1) CHCN (2) CH.CH.COOH

(3) CgH,NH,




